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State Eligibility Test - 2018
(Model Answer Key)

Life Science

Q1 : Which one the following methods involves transfer of proteins?

frafafaa sl @ afr & M graws ST g3 &2

Southern Blot

AI3GUT scllc

Northern Blot

ARGUT sdlT

Western Blot

dTcoT solic

D

Microtomy

HATSHICIHAT

Answer Key: C

Q2 : The equilibrium constant, Km, usually called Michaelis constant, is a measure of:

sFAIfTRTH Hlace km, TR 3O AR T Higee i wgr Iar §, F=ff@a &7 @
g AT §:

Enzyme affinity for its substrate

TeollsH HT 3T HeTee & folT 3THYoT

Distribution coefficient between reactants and products

3HfPHRF R 3curel & & & fFeror aqurn

Transition state

giforersT Ry

D

Standard free energy at pH 7.0

pH 7.0 T HTeleh Herd Sl

Answer Key: A

As a result of resonance, all of the bases of nucleic acids absorb ultraviolet light, the effect is:




Cileded & aRome @ ~gfaFeh T & a9 8T RIEeE JRr S @19 ofd § 59 v
Q3:
I T Fgd ¢

Hyperchromism

Amgwﬁlﬁaﬂ

Renaturation

et

B-form DNA

B-BIH 3 T T

Mirror repeat DNA

0 YT QgITeY aTelT & U T

Answer Key: A

Q4 : Which is the most abundant lipid in the plasma membrane of E. coli ?

E. coli & TaIretaT fSeel & ded IR AT A &l @1 fafdg &2

Phosphatidyl choline

wlathfefser Hfas

Phosphatidyl serine

wlabhiefsa ke

Sphingomyelin

Rwpeaasios

Phosphatidylethanolamine

el [ ——.

Answer Key: D

Q5: The atoms with higher atomic number and lesser atomic radius have:
Heeh RATV AT Td HA WA T arel WA & F41 giehr &

Lower electro-negativity

%mﬁagamm

Higher electro-negativity

mﬁaﬂam@m

Lower electrostatic attraction




C |fote=t PR deya 3mepor

Higher electrostatic attraction

Dm%ﬂ?aag?rmém

Answer Key: B

Q6 : Chitin, a closely related molecule of cellulose is a linear polymer of D glucose units having:
Frsfea, St for Aefelier & fAear-grd, B oo g5 d o Us s Sgereh, fohaa araT
ST &

O (1—4) glycosidic linkage

0 (1—4) TTSHITARH Fer

5(1 —4) glycofuranose linkage

B (1—4) TASHIRRANST T

OH group of C, atom of glucose replaced by 4-O-methylglucoronic acid

T & C; WA & OH YT &1 4-0-[AUSeTepRIeh 3el carT faeumast

OH group of C, atom of glucose replaced by N-acetyl amino group

D
eI & C, RATY] & OH I &I N-THIergel 3l 40 arT fawymae

Answer Key: D

Q7 : The length of one complete turn of a helix is about 45 A° in:
Fusell & Uh QAT H TS 45 A° R @il &

A-DNA

A-DNA

B-DNA

B-DNA

C-DNA

C-DNA

Z-DNA

D

Z-DNA

Answer Key: D

Q8 : The terms connexin and connexon are associated with:

FATFET T FAFdlT o FEy T &




Nucleus

~gh I3

Gap junction

T FeeT

Tight junction

TET SR

Mitochondrion

D

HSCIepI e g

Answer Key: B

Q9 : The membrane spanning portion of most integral proteins in eukaryotic cells is:

ek HIRABIST 7 R HTARD WET T ool aEga #@T &1 gIew &

B _barrels formed of 60-65 amino acids

60-65 T3S GaRT AT B -

B _barrels formed by folding of B -sheets

Befrem @ AT Pavew

. -helical formed of polar amino acids

FT 3HERTFT Y AfFT o goea

. -helical formed of non-polar amino acids

b g 3 3o @ AR o -gfoher

Answer Key: D

Q10 : The five major histone proteins are:

g yAqE el Wée Hld &

H1, H2, H3, H4 and H5

H1, H2, H3, H4 and H5

H1A, H1B, H2, H3 and H4

H1A, H1B, H2, H3 and H4

H1, H2A, H2B, H3 and H4

H1, H2A, H2B, H3 and H4

H1, H2, H3A, H3B and H4




D | H1, H2, H3A, H3B and H4

Answer Key: C

Q11 : Maturation promoting factor, a regulator of cell cycle is composed of two key sub-units:
ARUSFIAT Sootdel Tceh, ST HHRAAT Th T AT Har g, &1 & H&T 39 gahrs o
gIelr &

CDK 1 and Tubulin

CDK 1 3R ggfore

Cyclin A and Tubulin

AT A R ggforeT

Cyclin A and CDK1

ArsehioleT A 3R CDK1

Cyclin B and CDK1

D

Arsehfelel B 3R CDK1

Answer Key: D

Q12 : The chromosomes exchange their parts during ................. stage of meiosis.

g fasmstet r - AT # IORLET & GUsT T WER TAATH g gl

Leptotene

AT

Zygotene

SIS

Diplotene

fSeelréle

Pachytene

ol P

Answer Key: D

Q13 : The nuclear pore complex is made up of :

Fogeh g STel fred & glar &

6 spokes arranged around 2 central channels




A |2 FegIT dAall o GG 6 T dr SgawdT

8 spokes arranged around a central channel

1 FegT Aol & FEIAG 8 TNl cgae

10 spokes arranged around a central channel

1 eI T deTel oh 3GTIIG 10 TAIFT FI cgaedT

12 spokes arranged around 2 central channels

O | v Boreit % w818 12 eerr 1 caareen

Answer Key: B

Q14 : The organelle producing H202 by using molecular oxygen to remove H* from the organic
substances is:

aE HIRIBIET S Hlelifeleh Terdl F HUEATCHS Jadiole gaRT H* &l el T H,0, s=irdl &

Peroxisome

RIFEEH

Glyoxysome

TS AEFEEH

Lysosome

IS IR I

Mitochondrion

P B

Answer Key: A

Q15 : Heterochromatin, the darkly stained and condensed region of chromatin in nucleus is also known as:
SRR Sheger & 18T 7 ¥ IRTST T Gulad AR &1 &7 ¥, 58 3R Far s
g

Euchromatin

TehIATeT

«

False nucleus

3THTAT dhogeh

Nucleolus

EaECa




False nucleolus

Daﬁmm

Answer Key: D

Q16 : Recombinant DNA is based on the use of
nucleotide sequences and cut DNA.

, the enzymes that recognize specific

qifEeT Y T T , Uealisad, St faferse =geelianerss s & ggardar

$ 3 ST F Fed & ) R B

Cytochrome nucleases

S RRNES

Restriction endonucleases

EgeIe wosigfaertioret

Endonucleases

JWEIEIER U

N

Bacteriophages

D et

Answer Key: B

Q17 : The main component of moderately repetitive DNA is:

HEIH GoRIdcll SITAT I HETT Tceh hierdm &

Satellite DNA

Hearse 3TAT

Single copy DNA

T U TAT

Transposons

[ARSsI B2l Ces)

X

None of these

e ——

Answer Key: C

Q18 : The fidelity of protein synthesis depends upon:
MNET FAYT HT TedaAdT fFa W AR &




Aminoacylation of tRNA

tRNA T 3H iAo

MRNA

mMRNA

rRNA

rRNA

SRNA

D

SRNA

Answer Key: A

Q19: Nuclein was discovered by:

e B @ R o

Darwin

SR

Fredriech Meischer

weRE AER

Robert Brown

AaE 3T

Benda

Dan'r

Answer Key: B

Q20 : Xeroderma pigmentosum and Cockayne’s syndrome are caused by inability to carry out:

STRISTAT AT HA @ bl fAegH 3 HALTAT FT FROT 47

Nucleotide-excision repair of DNA

SITT AT 7 FAICISS Tarilolel HAIFH

Base-excision repair of DNA

AT FT 99 TFdleld AFA

Mismatch repair of DNA

v i PAEHT AEAT

Recombinational repair of DNA




D | 3vaT &1 RarfEdaisTd #FAd

Answer Key: A

Q21: Which of the following amino acids has less than six codons in the coding dictionary?

Aafaf@a A RET Usergel & HiT T 3AARFT § & T FH ST 90 AT §?

Arginine

3TTotfereT

Leucine

iG]

N

Methionine

Aanfaa

Serine

Pl e

Answer Key: C

Q22: Which of the following body organs are rich in mature T cells and B cells?

R T s AT 3T GRGFT T-HITRAAIT 3N B-HIRAS3T & T 82

Brain and spinal cord

ATETsH 3R Jc Fr gs3r

Liver and gall bladder

IS ERE GNP

Small and large intestine

oI AR «9r 3

Spleen and lymph nodes

D

Ceitgr 3R forw ssa

Answer Key: D

Q23 : The G proteins which mediate the intracellular signaling consists of:

JRAIRAIT TIR AT FAIfgd A aTell G NEH I AT TFad gar &

Two sub units @ and P

ar 37 shsar o3k B




Two sub units @ and Y

ar 39 gasat o3k

One sub unit @

Teh 39 gahls O

Three sub units ¢, Band 6«"

D n
et 39 gt o, Ba Y

Answer Key: D

Q24 : The extracelluar matrix attached to the cell surface mainly by cell surface receptors are:

FIfART Tdg TG ST HITABRT g I ARSI AfGFH Fr RIFT g

Selectins

TofeFea

Cadherins

FuR=g

Integrins

geefieq

Collagens

Damamﬂr

Answer Key: C

Q25 : Anexample of innate immunity is:
ST UTARET I 3ETEIUT T &

The immune response to a vaccine by an individual

afFa AT &1 ueeh Ear & 9T IfeRieT SgagR

The lack of receptor sites for HIV on dog cells

Fd I RIS H HIVF AT gy T40T F7 7 gl

The reactions of cell mediated immunity

Fifrpr Feara ufaver afAfrand

The injection of antibodies to the bloodstream

TFdariga H Ufd I8Tept I 3idaiqor




Answer Key: B

Q26 : The component signaling pathway in plants is activated by:
qigt & gce Jeu R 97 &t 3ART Sl w1 &

Auxins

ifas=a

Gibberellins

Sefog

Cytokinins

argerhsiAg

Ethylene

P | sersforr

Answer Key: D

Q27 : Which of the following is not a major organ of lymphatic system?

frfaf@d & d @l a1 afder a F1 9@ 3T 78§

Lymph nodes

af@er IS

Thymus

qTEAT

Kidney

geFeh(fehs)

Spleen

D/ e

Answer Key: C

Q28 : The perception of signals from plant surfaces by pathogenic fungi is mediated through
MTSTeAh Hash aRT dier T Tdg TR Aohd I & SR BT gl

Ca++

Ca++

cAMP

cAMP




Hormones

i

Ethylene

° | somsfomr

Answer Key: B

Q29 : The molecules involved in bacterial Cell-Cell Communication:

AT Fr FIRAEAT § HIRHT 7 FAR 7 39gaFd g ared 307 &

N-acyl homoserine lactone, cAMP and Farnesoic acid

N-TaES gIAfART dFeld, CAMP Ud BRAGISH 37

N-acyl homoserine lactone, CAMP, Methyl dodecenoic acid

N-TS SR e, cAMP fRuTse Sief@aiss 3o

Furanosylborate, Methyl dodecenoic acid and cCAMP

AT SRE, [AUTSer SISf@sige 3iFel T cAMP

N-acyl homoserine lactone, Furanosylborate and Methyl dodecenoic acid

D

N-TETS S gIAARE oerelel, RIS eRe Ud fAurse Sisfieiss 3w

Answer Key: D

Q30 : Which Initiation Factor interacts with initiator tRNA during translation in prokaryotes?

AT IUHAUT HRh WHRACH & [oIeaoT 7 3ushdAs tRNA S Y IREIRS fehar
LT 2

IF1

IF1

IF2

IF2

IF3

IF3

elF1A

D

elF1A

Answer Key: B

During the process of fertilization, the anti-fertilizins are secreted by:




Q31 : forvaet Frufdear & ek, TA-Belemsfoe e Tafad @ &:

Immature oocyte

Aaﬂ'crﬁqﬁm

Mature ova

gRuerg 3731

Spermatozoon

UshIv]
fol Pl

All of these

O Lot wdr &

Answer Key: C

Q32 : Stylopodium in the amphibian limb development is the precursor of:

3HITR 39T AR H TCEATNSTHT fohaerT 3R §:

Humerus

A

Radius

3T

Ulna

Femur

D
FreR

Answer Key: A

Q33 : Zona radiata in mammalian eggs is formed of:

TITUTRAT & 3108 & 90 S arel Siar I3der 1 [Aor fFaw gar &

Nuclear membrane of fused egg and spermatozoa

SAIT] 3R i 30UST & dhogehrafdr &

Gap junction formed between sperm and egg

I d ST o Rk &fer @

Microfilaments of egg




C

3UST & FEAA

D

Microvilli of oocyte and follicle cells

37Ul T EHIFT IR BIfcfher iRt

Answer Key: D

Q34 : Which of the following reproductive cells of nematode are formed from blastomeres?

FARAAT FT AT HlTd Foietet HIRAPT s AT F =11 gielr g2

E cells

E sIfuerd

M-St cells

M-St ITRAehTE

A cells

A FITARIT

D

P3 cells

RENIREIY

Answer Key: D

Q35 : The hormone responsible for metamorphosis in insects is:

Frel & FRITRT & fov SFer g&@fa &

Ecdysone

ECEIE o)

Juvenile hormone

SECIECRATIT)

Prolactin

EICICC]

D

All of these

T T §

Answer Key: A

Q36 : Which of the following proteins present in the yolk platelets of amphibians?

3HTARAT & Fleh Toleoled # @i & FEfafed geg wide g7




Collagen and Tubulin

relTotel 3R Tgafort

Vimentin and Desmin

faaAfees 3 Sufas

Collagen and Selectin

PiolTald 3T Toifae

Phosvitin and Lipovitellin

D

wiafafes 3R feraifaefore

Answer Key: D

Q37 : The development of lens in vertebrates is induced by:

FARHAT H ool &l faehrd fhdsh @arT g &

Pontine flexures and cervical flexure

Olecled Folddl d TRASHA FoldFil

Choroid coat and sclera

FRISS HIT T TFeRT

Eye vesicle and sclera

S FHHA T TFRT

Head mesoderm and eye vesicle

D

g3 AaEd g 3s dded

Answer Key: D

Q38 : In Arabidopsis three gene classes A, B and C determine the floral development. In how many
whorls each gene class express itself ?

INFISITEH & I e & et Sl T A, BT C HuiRa ad & forcer el &
X Siiel §eofg e Y &Rl I

W W[IN|IDN|[FP]| P




4

D

4

Answer Key: B

Q39 : According to Chemiosmotic Coupling hypothesis, electron transport and ATP synthesis are coupled
by:
heA3TEATER HUTT TRFCTA & IFAR Foldeld IRagsl AR Tl Teeee fmad
AT g &

A proton gradient

Teh Yieke Afste

A covalent high-energy intermediate

U SIdleic 3d 3ol ALIadr

An activated protein

Ueh gihd Wici

All of these

D

E T

Answer Key: A

Q40 : Nitrate reductases found in cyanobacteria and eukaryotes differ in:

ASATFERAT IR FHRANET A 9T S dlel Asee NeFesT # &1 IR &

Diaphorase activity

GErIRC I ET

Catalyzing reaction requirement

3oty fRfRAT & 3TaeTedr

Cofactor

Hguceh

All of these

Dmfra?r%

Answer Key: D

Q41 : The photoreceptor which absorbs is a flavonoid, now called cryptochrome.

FT 3TTATUT Fal ATeAT TRIRIATEY, Teh $elaldiss g, 5l 31 fSheelsnd Sgelrar &l




Blue light

SArelr =T

Red light

GGG

Far-red light

RECICIRNC

All of these

O et @ &

Answer Key: A

Q42 : Which of the following ions play a vital role in phloem translocation?

AT § O FlT T 3T FIH TATEROT & T HJ197 o 872

Na*

Na*

K+

K+

Ca*?

Ca+2

Fet2
D

Fe*2

Answer Key: B

Q43 : The source of ATP for symbiotic nitrogen fixation in root nodules is:

S5 AT H TgodY AT TAAROT & faw T & o &7 AT &

Ferredoxin

ETEUERC)

Pyruvate

qI&de

Malate

Here

Hydrogenase

HESEICE




Answer Key: B

Q44 : The initial committed step in the synthesis of fatty acids is production of:

e TfAg & HeANoT # RIAS gideefad 991 & 7 3curied 8T &:

Acetyl Coenzyme A

TTACIS o BITeSH A

Malonyl coenzyme A

HAellfel HITasHT A

Acyl carrier protein

TaSd SRR T

D

Biotin carboxylase

S FREIFE ST

Answer Key: B

Q45 : Light causes reversible ion changes in the chloroplast stroma influencing the activity of rubisco and

other chloroplast enzymes due to:
FARICARE TCIHAT H FIED! TF 3T FARITARRT ToallgH hl rAeieldl 9T TR arT
3chFd 3T SGolld T HRUT FT &

Rubisco activase enzyme reactivating rubisco

FIAER! Tardldel UrollgH CaRT FSEh! I Jel: 3T el

Its ability to catalyze both carboxylation and oxygenation

FIalfrderRIe Ud HITFaSTeIled FT 3ciolel el ol SHAT AT

Physical separation of photosystem | and Il

geprereRal | 3R 1 &7 $ifae geydieoT

D

Proton efflux causing stromal increase in pH

ISl STl aRT Sfadd FEIAT & pH A ded

Answer Key: D

Q46 : Ammonia poisoning occurs in temperature sensitive plants at:

ag G3dr gt & 3AfATr [Auerde S HROT 14T ¢

Low temperature

ST agaT




Moderate hydrated tissues

AT Fdifad 3d%

High temperature

3=d dlvHlT

D

Very high hydrated tissues

I 3= FoAfaa 39+

Answer Key: C

Q47 : The flowering is induced by

in long day plants.

& yenrel dtet & qoueT CarT R g Bl

Red light

olTelT YehI?

Far-red light

g el Fehrer

Blue light

TSIl ehrer

D

Yellow light

CIGIREIE

Answer Key: A

Q48 : The function of angiotensin Il is to:
UleoTaIeaATasT || T HIF FT &

Construct arteries and increase blood pressure

HATAT &1 AT T IFd a1 P ToTell

Decrease the production of aldosterone

TeIRCIe 3cUIGaT Pl e el

Decrease arterial blood pressure

YATAIT I IFT IMT FHT HH HAT

D

Decrease water absorption

SToT 3792NYUT Y hH hlal

Answer Key: A




Q49 : Anincrease in the permeability of the cells of the collecting tubule to water is due to:

HUGUT Afetent HITABIIN F el IREFIAT H Fefr &1 HROT &

Decrease in the production of Anti Diuretic Hormone

Ul STSYIfee ERAT T HA FauT gl

Increase in the production of Anti Diuretic Hormone

Tedl Srsgifes gRAET &1 31 |raur g

Increase in the production of aldosterone

TeaIEesT T 3TF FIUT glaAT

Decrease in the production of aldosterone

D

TSI &I A FIGUT gl

Answer Key: B

Q50 : Gaucher disease found primarily among the Jewish people is caused by the malfunctioning of:

S FFTA H 9IS S arell 9HE el [9ART fha fashd R & SROT Bl &

Lysosomes

CIES IR

Endoplasmic reticulum

TUSICRTE A YEThHeld

Golgi bodies

el 8T

Mitochondria

D

ATgIRIOZAT

Answer Key: A

Q51: An oval depression fossa ovalis is seen on:

HUSTHR HITHA BT Aafad ford 9T g@r arm &

Inner atrial septum

3TARF Yhts W

Inner ventricular septum

3IaReE feg )




Right auriculo-ventricular septum

GIfgaTT hIsas-faeril W

Left auriculo-ventricular septum

D ST gepisa-faerly @

Answer Key: A

Q52 : The action of neurotransmitters in carrying signals between synapse is an example of:
IAISY & ALT ~PATHAIC GaRT VA I THROT FhART IETEXT &

Endocrine signaling

3ed: TIE e fhar

Paracrine signaling

WRT TIATAT TS2o Toham

Autocrine signaling

T TIEr @eer fhar

Holocrine signaling

D

EUREICIRCURER

Answer Key: B

Q53 : The cardiac impulse is delayed by:
&G & 39 HI fhasd ganrT Aeres fwar Srar §:

SA Node (Sinoatrial Node)

THU AIS(ASATfeTe A3)

AV Node (Atrioventricular Node)

T &Y oA (TdENafreger Als )

Purkinje Fibres

Rfheol BB

Anterior Pituitary gland

D

Answer Key: B

Ammonia is the chief nitrogenous excretory material in:




Q54 : IAAAT TFaA HET ATSEIo Jord Schiold dard &

Fresh water fishes

Ama—mm

Birds

gef

Rabbit

QIamer

Grasshopper

DT%E%T

<

Answer Key: A

Q55 : A nerve impulse will travel through a nerve fibre only if the membrane suddenly becomes more
permeable to:

dityeh 37T Td df¥epl o & dd g Falfgd gl Sid 3ralelesh el SA1ET WHEEY {3
& favgr S

D

Answer Key: D

Q56 : The phenotypic effects of point mutations can sometimes be reversed by a second mutation in a
different gene called:

TAIST FYCA F TEAT TG FI HHT Iefer ST H gE{ YA GART IARAfdd [T
ST EHd §, 38 FAT FEd &

Silent mutation

TrSeiT FIEAT

Suppressor mutation

THET AT




Frame shift mutation

ShATAITE FEAT

Ts mutation

D
Ts ¥

Answer Key: B

Q57 : The Mendelian character for round seed is recently found to be controlled by an
enzyme .

YT T F IHTARN AesTordet ar # el dier &1 e Teatsd J

3B -hydroxylase

3 B- gregidiaeT

Starch branching enzyme

T §TieddT Teallsd

Galactosidase

EECTRIEER ]

Transacetylase

D
AL L

Answer Key: B

Q58 : ABO blood group in humans is an example of
AT # ABO I&Fd a7 FT 3STEI0T ¢l

Pleitropic genes

T SiteT

Incomplete dominance

31qot geriaar

Multiple alleles

agaam

Polygenic inheritance

D .
ELCE] FemaTia

Answer Key: C




Q59 : Which of the following is not an example of inter allelic gene interactions?

T & F T 3ed: Tolld ST 3AANTIHIOT ST 3ETeI0T el g7

Complimentary genes

g St

Epistasis

Heleldl

Supplementary genes

R ST

Incomplete dominance

Daqt,r\o‘rqamﬁm

Answer Key: D

Q60 : The degree to which a particular genotype is expressed in the phenotype under a variety of
environmental pollution is called:

Ww%mmﬁﬁmmﬁmﬁmm
& FIT FEd ¢

Atavism

verfaad

Expressivity

TFaEdTRfaer

Pleiotropism

Reriei e

Penetrance

Dﬁﬁ%acr

X

Answer Key: B

Q61 : Pattern baldness in humans which is inherited in some families is an example of:

AT S & & IRART H FAIT AT IS9 fohaferr 3eTeeor &

Sex-influenced genes

Hrg SoFelgEs Sl

Sex-limited genes




B |d=w fafaes shi=w

Primary non-disjunction

EIEE UGG RER T A

Secondary non-disjunction

D sty oot oot

Answer Key: A

Q62 : In Mendel's experiment, genes for seven pairs of characters in pea are located on:

HUsel gaRT fhU AT JAWET # HeX & A Sigr & T Siew fhad Fud g

2 linkage groups

ar HEeliel THE

4 linkage groups

IR AgelIe THE

5 linkage groups

qrd HEeldsl HAE

7 linkage groups

D
AT TgerdsT THE

Answer Key: B

Q63 : Eye colour in human beings is determined by:

AT H 3@ & @7 o7 AURT Fash ganr g &

Multiple alleles

SggIATAHReUT

D9

Epistasis

Heeldrl

Complimentary genes

TE SHd

Polygenes

D
s =g

Answer Key: D




Q64 : Wooly apple aphid belongs to the order:
goll Toqer s T 3707 i &

Hymenoptera

gISAATC

Coleoptera

EAICER )

Hemiptera

g

Lepidoptera

Dl e

Answer Key: C

Q65 : The brown algae uses complex in photosynthesis.

T YT, 81T QAdTel, ThTRr HLRIWOT T foham H & gl

Fucoxanthin Chlorophyll a/c

T e FARIeT a/c

Fucoxanthin Chlorophyll a/b

T el FelRITheT a/b

Phycocyanin Chlorophyll a/d

BISHIATS el FARIThel a/d

Carotenoid Chlorophyll a/e

D

FfeATSS FARIBT ale

Answer Key: A

Q66 : Flightless birds are included in:
35T e gl fhaet gATRa &

Impennae

sodaT

Carinatae

FTer

Ratitae




C |¥ersé&t

Odontognathae

ol NI

Answer Key: C

Q67 : Which is the starting date of Zoological nomenclature?

TIOY ATHCT T &3 AR T A &2

February 18, 1895

Tadr 18,1895

March 18, 1895

AT 18, 1895

September 18, 1895

AaFsT 18, 1895

December 18, 1895

D

g 18, 1895

Answer Key: C

Q68 : is specimen or illustration selected to serve as a nomenclatural type as long as all
the materials on which the name of a taxon is based is missing.

Tafd T a1 T § e 9T 1A dF & Heddid ged F A @
STl W Ugalelsl & forw fohar Srar gl

Epitype

ey

Isotype

HATRY

Holotype

ATHIRY

Neotype

D
GEEEN)

Answer Key: D




Q69 : According to IUCN, threatened and vulnerable categories consist of taxa:

IUCN & 3J8R, dees Td 3gRIETT Sl e g g

At serious risk of disappearing from the wild state

STl HIFEHR §T F I & W@ TAaan

Likely to move into endangered category in near future

e afosy Fuesears g & 3 Hr gEHTTAT

Not definitely located in the wild during the past 50 years

oo gar@ el & STl H A8 @Y ST arel Yoliar

Having small populations at present but at risk

b dHA H HH STAEET H YU W] T &

Answer Key: B

Q70 : The rapid rate of development, high reproductive rate and weak competitive ability are
characteristics of

caRa AT T, 35T Yoldel &Y JaT HHIN TqYT &7H T & fAcreIor B

r—selection

r-ToereresT

K-selection

K-Faelaast

S-selection

S-RoiFast

B-selection

Y -

Answer Key: A

Q71 : From the ecological point of view, the physical space occupied by an organism, its functional role in
the community, and its position in the environmental gradient, is referred to as:

aiRfEufaehr & faar & ol Sfig 2aRT Toe & 39AET & o™Ar 341 T Ud 3R
FIIRIT Aged T TATT FAT FHgolldl &

Guild

e

Habitat




Niche

e

Home

D

30§

Answer Key: C

Q72 : The complete or partial inhibition or death of one organism by another through the production of
some substance or environmental conditions as a result of metabolic pathways is referred to as:

T Sfig @ 3ura=rl foRansil garT Searfed gerel ar ardrerr dr deig & gEN Sia
JEI I HeHT AT Hcg Bl Silel T TCaA Y T el o

Parasitism

waiaar

Predation

OIHETOT

Antibiosis

gfasitadr

Competition

[ —

Answer Key: C

Q73 : The most common producers in temperate forest ecosystem are:

efrcirsor gt aIRfEufdss a7 & 9@ 3cues FHlAd ¢

Butea, Shorea, Tectona, Lagerstroemia

giear, AT, e, doRE AT

Euclayptus, Callistemon, Melaleuca, Cinchona

Dicanthium, Desmodium, Setaria, Cynodon

Quercus, Acer, Betula, Picea

Faehd, T, o, fifdar




Answer Key: D

Q74 : Which of the following system is involved in chemotactic response of E. coli ?

E. coli T TS 0T Hierer FfaAfehar & 3767 & Pl AT AT HIET T 872

Quorum sensing

FARH HAGET

Trp-Operon system

MR- 3R BEed

Phosphorelay system

BRI faeeA

Mesosome system

D

Ao {ed

Answer Key: C

Q75 : Which of the following soil horizons consist of parent and un-weathered bed-rocks?

o & & il HoT e A Uqeh T HA9RiIOT Sieieh Tt UIS STl g7

S- horizon

S—EER

R-horizon

R- §ER

O-horizon

O- I&X

B-horizon

D .
B- §&IX

Answer Key: B

Q76 : The recognized three zones in a deep pond and lake from top to the bottom are in the order of:

e Telell Td Siell & IR § AT T il JHT TR FHgelld g

Limnetic, littoral, profundal

TR, dET, Whosof

Littoral, limnetic, profundal




B |7, aadl, Nithesel

Littoral, profundal, limnetic

TET, Nhesdl, TG

Limnetic, profundal, littoral

g [ —

Answer Key: B

Q77 : Which of the following international efforts made to tackle global climate change?

T & O FT 1 3T YIE 399 IO seof & FEafaud 87

Intergovernmental Panel on Climate Change (IPCC)

Secd Adedeed Yool 3T ForsHAe dol

United Nations Frame-work Convenntion on Climate Change (UNFCC)

ATIES AL ShHdh FHhed2lel 3o FellSHC Tl

Montreal Protocol on substances that deplete the ozone layer

Afecae Aetaia 3l Feactael il 3ol TR & FHH I &

All of these

Dﬂaﬂﬂﬁr%

Answer Key: D

Q78 : Anthropods having tails strong enough to assist them in locomotion and used as ‘fifth hand' are
called monkeys.

YIS AT A I 9IS Sl § S 3o¢ dolel H HeIAAT el ¢ 3R ag diwar
BT T HTH AT & d Joel Hgelld gl

New world

u_'?:(l'\ EI(Vé

Old world

3fes des

Mixed world

A aes

Primitive world

HIEH Tos




Answer Key: A

Q79 : Devonian is called:
Balige T Fgad o

Age of Amphibian

TFRITSI el

Age of Fish

HcET plel

Age of Mammals

TATURYT el

Age of Reptiles

D

TG el

Answer Key: B

Q80 : The theory of spontaneous generation of life was proved wrong experimentally by:

Siaet 1 e S Rigyia & g d W) foraer srod ey forar o

Arrhenius

IRfeag

Erasmus Darwin

SEAY SRIdA

Francesco Redi

ShieadeT 38T

Van Tieghem

O 4o evtan

Answer Key: C

Q81 : Who was the writer of a book, 'Principles of Geology', which inspired Charles Darwin in developing
his theory of evolution?

Tifdaew 30w fSratelsl AHes IEde, o e ared SR &1 S faee &1 fegued
frfasa & v aRka f&an, &1 ows Sid &2

Alfred Russel Wallace

Tolths ol arold




August Weismann

e Sgda

Charles Lyell

qred TSl

John Henslow

Da’l?r%aq?»ﬁ

Answer Key: C

Q82 : Geographical barrier or physical isolation mechanism lead to

speciation.

sitanfore e Hifas e fRanfafr S 3esae T gl

Allopatric

GEGESIIGED

Parapatric

WA S

Sympatric

FATATAS

All of these

O et w2

Answer Key: A

Q83 : The selection pressure tends to eliminate the intermediate phenotypes.

IROTJHTT HEITAT TGTOTIRYAT T gelel T FATH T gl

Directional

fefre

Disruptive

faer

Stabilizing

TATHHIT

Sexual

D
a 3T

Answer Key: B




Q84 : The fossil of female ape named ‘Lucy' is a member of:
'O ' SATHS AIGT TT T SiaRd fhd w1 HeE g

Australopithecus afarensis

HTECN TR H 3het e

Homo erectus

grAT XfoFed

Homo habilis

graAr glafera

Ramapithecus

Drmftreﬂw

Answer Key: A

Q85 : The vaccines are used to confer protection to individuals from diseases. Which of the following
vaccines contains killed viruses?

& &1 gA9T frdt g o Y O T & Qv Far arar g1 @ #§ 3 #Hiqaa O
A7 fawmo] g g2

Salk

Hlesh

Salbin

Arfede

BCG

BCG

DPT
D

DPT

Answer Key: A

Q86 : The bioremediation of most extensively used insecticides organophosphates can be carried out by
through hydrolysis of p-o-aryl bonds in these pesticides.

HIH AT 39ARNT fheamees iEAware $r siafaee fhar st f& dr-3m oRer
di3 & GaRTgIdr §, S % ¢anT &k Srdr Bl

Pseudomonas diminuta

FISIAATH T3ffeqer




Pseudomonas putida

Arthrobacter viscosus

IRYSFey R_AgHag

All of these

d [E——

Answer Key: D

Q87 : Which of the following microorganism is exploited to synthesize vitamin rivoflavin?

Pt F Plear shar] RafAs Tsairafds & HRawor 7 gged g &7

Gluconobacter oxidans

To[latsee JiFdIs=a

Ashbya gossypii

Trsar MY

Bacillus coagulans

SfAeE HITeled

Pseudomonas denitrificans

P e "

Answer Key: B

Q88 : The phenomenon of reversion of mature cells to the meristematic state leading to the formation of
callus is known as:

gRYFg FHIfAST FT fassdids 7 # aRafdd g g g 61 ufshar & Fa1 Fgd
&

Redifferentiation

goT: adiea

Pl

Cellularization

RGO

Disorganisation

[CEEIEG]

Dedifferentiation




DIGICE G

Answer Key: D

Q89 : The cybrids will not be obtained through:
frE & CaRTASTIS #gT FATT ST Hehd

Fusion of two normal protoplasts

&l TTAT WiCcaee & Holdel gaRT

Fusion of normal protoplast with enucleated protoplast

AT GIEICee 3R 3hegehid FIICee & Heldel GaR

Fusion of normal protoplast with protoplast containing no-viable nucleus

A WIEITAEE Td SAeTETH hogeh Johel HEITAEE & Holdel GaRT

Selective elimination of one of the nucleus from heterokaryon

b AYHhrgh A TUh Shogeh T aXUNcHS TdeildeT

Answer Key: A

Q90 : The first biosensor based instrument commercialized was:

Ugell SiqHehcish 3UhHH S SHAATAH E3HT oT:

Glucose analyzer

ToTehlST TIEToT I

BOD analyzer

BOD g{iefor I3

Toxic gas detector

STediell 3 HgEh

Aflatoxin detector

D B
TFATCH {8 HEh

Answer Key: A

Q91 : The clinical trials on gene therapy have been carried out in which of the following
disorders/diseases?

et & O et feaAREt & fov SiAveR garT Rfseasdr qdiefor f&u v g2

Muscular dystrophy, haemophilia and cystic fibrosis




A | et gedior, grarhifear e Bafes wesifad

Muscular dystrophy, malaria and haemophilia

U guIyoT, FHR@T Ta gATAIferaT

Haemophilia, malaria and cystic fibrosis

grATRITorT, #ARAr vd ffwfes wesfad

Haemophilia, malaria and ADA deficient SCID

D .
QIATRITET, HARAT U ADA 31811d I SCID

Answer Key: A

Q92 : Inthe ELISA test, an essential requirement is a reaction brought about by:

ELISA &¥c &1 fohaT # 37aedeh S 1 il G e o

A fungus and protozoan

B UG Qe

The substrate compliment

T HFqToldee

Radioactive isotope

fsauiaea amsaeg

An enzyme

D

U Teoll5H

Answer Key: D

Q93 : Inhigh voltage electrophoresis, the speed of separation is increased by the use of a potential
gradient of:

30 fa%1d SAFABRIAH H GUFHOT T IWAR Y ha fas1a Jaorar & ordm S Hevell
&

20 V/icm

20 Vicm

200 V/cm

200 V/em

2000 V/em

2000 V/cm

2200 V/cm




D | 2200 V/cm

Answer Key: B

Q94 : A measure of discrepancy existing between observed and expected frequencies is supplied by
statistical method:

ierfere Mg 3R 3maferd 3mgfa # 3ng fagarfa & A9 # fhg #ifeahr fafer garr
T ST &

Student 't' test

TseT 1 eFE

Chi-square test

FIS-TFATIR TIT

Standard error

Wgﬁ

Percentage

D
EIGEG

Answer Key: B

Q95 : According to Ramachandran plot meant for the poly-L-alanine, which of the following statements is
false?

Poly-L-alanine & Hdfeeid A g Tolic & 38R, fAEfaf@a & @ @l a1 s37= aTord
2

It shows three separate allowed ranges

7F T 37T 37T IFATT T WoAT e §

One has ¢} & ¥ values, generating parallel & antiparallel sheets and the collage helix

TF H ¢}34‘\'\r W Hew, Rreer 3R ORI -2fie AR Foer e Yar aRar §

One has ¢} & ¥ values, generating right-handed @ -helix ( % R)

TF F d}&ﬁT ¥ 7w gu g @ o RfeeT ((OR) YT e &

D [ One has ¢} & ¥
much favoured

values, generating left-handed © -helix ( ¢ L) found in proteins and is energetically




TF FT d)aﬂv W e, MEF F 9T S aren ST gy @ o Rfed (o L) Yeraar § 3R
Ig SITET 3¢ Foigad o

Answer Key: D

Q96 : A bag contains 7 green and 3 yellow coloured seeds of plants. Two seeds are drawn at random one
after the other without replacement. What will be the probability that both drawn seeds are yellow?

T JF & 7833 3N W1 & Giedt & I &1 397 F 28 T & §I¢ Teh foar
gfaeaiug frd, 31faa@a 9 @ @Aere =) g1t el et &1 9T 3T gl 6
giRerar &ar gef?

0.6

0.6

6.0

6.0

16.0

16.0

60.0
D

60.0

Answer Key: A

Q97 : Which of the following amino acids gives yellow colour with ninhydrin in chromatographic
separation?

IR GEHRT & F Fl-A1 A 3 PTers3r & @y frer 1 ar &2

Alanine

Tl

Proline

ifereT

Lysine

CIEEG]

Cysteine

D crererer

Answer Key: B

The enzyme responsible for unwinding of DNA molecule during replication is known as:




Q98 : fcihfcIeoT 9fshar # DNA 310 & ol & [T oFAeR Sl &1 Teallsd ¢

Topoisomerase

| N———

DNA Polymerase-I

DNA Yol |

DNA Polymerase-II

DNA il i

Helicase

D

GIES

Answer Key: D

Q99 : The Ori (origin of replication site) in E. coli consists of:

E.coli # 'ori' (FTIhTehIvT & 3e31d dheg) foher® o1 g1 &

235 base pairs

235 base pairs

245 base pairs

245 base pairs

260 base pairs

260 base pairs

270 base pairs
D

270 base pairs

Answer Key: B

Q100 : What s the role of Sodium Dodecyl Sulphate (SDS) used in elctrophoretic separation of proteins?
eI o SolergIhR e JLehleioT # FIfSTA SIfSAS Hothe (SDS) &I FAT TleTere g?

It increases pore size of the gel

Ig Sl T g 3R o7 &aT ¢

It adds charge to the gel which helps in the separation of charged proteins

Ig ARG N & GLRHT H FHAcg el & fhT Stel Y IMART T &

It denatures proteins and makes them rod-shaped and uniformly charged

g N faspfdad AR deeer g @7 IJaRT #dr §




D

SDS is a detergent and reduces the frictional forces offered by gel during electrophoresis

SDS Ts feesfe & S TaiFIwisfad & e Se gaRT 3cUes] TYUE &l HF T gl

Answer Key: C




